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B 75 57 76. 0% 8 14. 0% 6 75. 0% 5 83. 3% 8. 8%
4 32 27 84. 4% 4 14. 8% 0 0. 0% 0 0. 0% 0. 0%
it 107 84 78. 5% 12 14. 3% 6 50. 0% 5 83. 3% 6. 0%
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1A | L e | 1 e BoR Lk aks k| 1 wakE R 2 wmsi | 2 W BR| 2 itk ik | 2 AR ane 1 kane
B 2 2 100. 0% 1 50. 0% 1 100. 0% 1 100. 0% 50. 0%
4 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
it 2 2 100. 0% 1 50. 0% 1 100. 0% 1 100. 0% 50. 0%
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1A ez 1 BRIk ok 1 ko] 2wz 2 kBR| 2 ko] 2 ik R one  wans
B 5 4 80. 0% 2 50. 0% 2 100. 0% 1 50. 0% 25. 0%
oS 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
g 5 4 80. 0% 2 50. 0% 2 100. 0% 1 50. 0% 25. 0%
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LA ez 1 BRIk ok 1 kak R 2 wzman] 2 kBR| 2 ko] 2 ik R one  nans
B 3 1 33. 3% 1 100. 0% 1 100. 0% 0 0. 0% 0. 0%
o8 7 3 42. 9% 3 100. 0% 2 66. 7% 2 100. 0% 66. 7%
E 10 4 40. 0% 4 100. 0% 3 75. 0% 2 66. 7% 50. 0%
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1iags Bk 1 gk ek 1 ke R 2 wenan] 2 iR 2 wakek] 2 iR [ans nans
B 4 4 100. 0% 3 75. 0% 3 100. 0% 2 66. 7% 50. 0%
o8 4 2 50. 0% 1 50. 0% 0 0. 0% 0 0. 0% 0. 0%
il 8 6 75. 0% 4 66. 7% 3 75. 0% 2 66. 7% 33. 3%
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1iags ] wEBek] 1 gk ek 1 ke 2 nenan] 2 iR 2 watka] 2 ik R [ane nanes
B 6 4 66. 7% 1 25. 0% 1 100. 0% 0 0. 0% 0. 0%
oS 49 46 93. 9% 14 30. 4% 14 100. 0% 7 50. 0% 15. 2%
s 55 50 90. 9% 15 30. 0% 15 100. 0% 7 46. 7% 14. 0%
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B 6 6 100. 0% 4 66. 7% 4 100. 0% 2 50. 0% 33. 3%
oS 7 7 100. 0% 5 71. 4% 5 100. 0% 3 60. 0% 42. 9%
it 13 13 100. 0% 9 69. 2% 9 100. 0% 5 55. 6% 38. 5%
HIRk  —EEB
1iags | sk 1 Bk 1 ek R 2 wmnEn] 2 iR 2 wakek] 2 bk R [ara nann
sl 3 3 100. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
4 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
g 3 3 100. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
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1iags | sk 1 Bk 1 ek R 2 eenEk] 2 iR 2 wakek] 2 ok R [ara nann
B 37 30 81. 1% 12 40. 0% 11 91. 7% 4 36. 4% 13. 3%
oS 1 1 100. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
it 38 31 81. 6% 12 38. 7% 11 91. 7% 4 36. 4% 12. 9%
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£ 89 68 76. 4% 15 22.1% 13 86. 7% 9 69. 2% 13. 2%
4 43 32 74. 4% 8 25. 0% 2 25. 0% 2 100. 0% 6. 3%
gt 132 100 75. 8% 23 23. 0% 15 65. 2% 11 73. 3% 11. 0%
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1RBIAER| 1 RZBRER| 1 RZBRR|IKABER | 1 REBE | 2KRZBER 2IRZRB [ 2RAKEK| 2 REKE |ans/ 1 nzns
3 6 4 66. 7% 1 25. 0% 1 100. 0% 0 0. 0% 0. 0%
% 49 46 93. 9% 14 30. 4% 14 100. 0% 7 50. 0% 15. 2%
gt 55 50 90. 9% 15 30. 0% 15 100. 0% 7 46. T% 14. 0%
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1REIAER| 1 RZBER| 1 RZBRIKABER | 1 REBE | 2kZBER 2IRZRB [ 2REER| 2 REKE |ans/162ns
3 46 39 84. 8% 16 41. 0% 15 93. 8% 6 40. 0% 15. 4%
oS 8 8 100. 0% 5 62. 5% 5 100. 0% 3 60. 0% 37. 5%
&t 54 47 87. 0% 21 44. 7% 20 95. 2% 9 45. 0% 19. 1%
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3 141 111 78. 7% 32 28. 8% 29 90. 6% 15 51. 7% 13. 5%
oS 100 86 86. 0% 27 31. 4% 21 77. 8% 12 57. 1% 14. 0%
g 241 197 81. 7% 59 29. 9% 50 84. 7% 27 54. 0% 13. 7%
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